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Preface

The HSK is a national level standard test, which is tailored to test the proficiency of non-native
Chinese speakers. Since the revision of the HSK test in 2009, it has become much more adaptable to
the spread of the Chinese language worldwide.

Students can acquaint themselves with the material as well as its style by doing the exercises
from the HSK Official Examination Papers. These papers can not only test students’ levels of
Chinese, but also help them to master commonly used vocabulary and grammatical points that they
may confuse by offering them the chance to learn and do these exercises repeatedly. In order to
help HSK examinees prepare for the test more effectively and systematically, this book offers an
explanation for each exercise in the HSK Official Examination Papers (2014 edition) in detail; it also
has a focus on the explanation of vocabulary and grammatical points that are easily misused so as to
help students avoid misunderstandings in the Chinese language. This book can guide students to pass
the HSK test more easily.

The book has many distinctive features:

Scientific: The book is compiled based on the HSK syllabus and offers detailed analysis of the
vocabulary and grammatical points in the HSK Official Examination Papers (2014 edition), which
can help students to better understand the test features and master the exercises.

Authoritative: The book is written by instructors who are engaged in teaching Chinese and
have been offering instruction on the HSK test to international students for many years. Since the
compilers are familiar with each HSK test point, this book can aid teachers and students in preparing
for the test more effectively.

Self-learning: This book intends to keep the language simple to explain each difficult point of
the exercise in detail. This book is not only conducive for teachers explaining these language points,
but also for students learning by themselves. Self-learning can further enhance students’ ability to
imagine, conjecture, respond and comprehend Chinese language, and can also improve their logical
thinking, analyzing, summarizing competence and the ability to grasp the framework of vocabulary
words. This book can act as a teaching plan for teachers as well as a tool for students learning
Chinese.

We expect teachers, HSK examinees and other readers to share their insights with us. You can

contact us via email hyjx@sinolingua.com.cn or via micro blog http://weibo.com//sinolinguavip.

The Compilers
May, 2014



(HSK M EMAT (2014 18 )) mES

®E| : 43K HSK & X XA

Bie] . A M

WE  (BURESIRFHT )
[ % | wolueindtord (BTH) £ @AW
INPAE TR OB FRde | % EHEE R OB

B & A



H 3k

H3 1221 ZRZEMAIT -+eeereere e 1
—. nﬁ—j] Listening T R Te s L R CITITEPN 1
= ,,{115\; Reading QECHIOI +++## e+ veessrmeeeemme s et e ettt 6
= _’54/]; Writing QECLIONY +++##veeesrreeeesemre e e sttt ettt 10

H3 1222 R ZE M oo eeveerereers et 12
— Dﬁ-j] Listening O 6] § IR R R R R LR LT PP P PP LLUPC LT PP P PLRRED 12
= li]li: Reading GECEIO ###vveweeeeeeeeeesenee e et ettt 17
=\ gﬁg Writing QOO IO * v erereeeeees s e s sttt e et e e 21

H31223 %g%ﬁzﬂ:ﬁ ............................................................................................................ 93
—. aﬁ—j] Listening T 10 s LT T T T PP PP PP PP ET LI E TP P PPPRPPPPRIIID 24
= RE Reading QO CTI O v ###wewremsmssssnsmnseet bbb 28
=. B4 WIiting Section «+:s:ssscsecstsessasssessuersenrmesrsusssesmssnsnissnassscsanssssssssansasssssasnsosonsss 33

H31224 ﬁ%%ﬁiﬂﬁ ............................................................................................................ 35
—. uﬁ»j] Listening QECTION wrrrereerersereerrnenrne e st et et e e 35
=. Az Reading QECLIO ###rerrrerernrnssnmmmmmmnnsi e 39
=. 5% WItIng S@Ction «++eeeseeesessssssusmisiiisiiiitiis e 43

H31225 %g%ﬁ#ﬁ ............................................................................................................ 45
—. uﬁ-j] Listening QECLION *+++++veerererereessessmnnnrrneettetsiiitt et e e e sttt s s e e s s s aaa s st s banne e 45
=. A Reading SOOI #veveerersserrmmrrrrerer ettt 49

= ,'x_E;ﬁ; Writing GECLION +++ s rerrrrersssersssssettetiitirititte ittt 53



H31221 & R R

— . WrJ7 Listening Section
SE—h4r  Part One

Keys to Questions |—5:A C E F B

1.A

It can be deduced from /& that the question must be related to one’s height and features. A
shows a girl measuring her height with a ruler, so it is the correct answer.

2.C

744 is mentioned in the recording. We may think B and C are both correct as they are
related to fi. But if we continue to listen, &/)» T and A # 25 in the recording show that C is
the correct picture which contains a piece of luggage that cannot be closed.

3.E

#1iX and & >J are mentioned in the recording, and these words are related to reading and
study. So E is the correct answer.

4.F

In the recording, the man asked iX P> AJZHE. Only in Picture F are there two people.

5B

i is mentioned in the recording again. i and £ mentioned in the recording are only
meant to confuse the listener. The correct answer is B, which is also the only option left.

Keys to Questions 6—10: D A B E C

6.D

The first word 4% in the recording shows D is the correct answer to the exercise, which can
be further confirmed as % is mentioned twice in the recording. In Picture D, there is a mother
and a son who is learning to ride a bike.

1.4

After hearing fi§ ¥, you can find the answer. Only pictures A and D contain a person with a

hat. But choice D has been chosen, so A is the correct answer.




8.B

The key word here is #H#/L, although it appears only once. Words like # and 7% in the
recording may mislead you into believing A is the correct answer, but A has been chosen, so we
can choose B directly. It is very important to catch the key words.

9.E

It is not easy to choose the correct answer to the exercise. Since there is no picture showing
a scene of playing in the snow, it seems that no picture matches with 58K K and FbcJL
—%> )L in the recording. However, in Picture E, a girl is holding an umbrella to shelter herself
from the rain or snow. If we look at the picture more carefully, we can see the girl is wearing a
scarf. So it can be deduced that this picture is related to a freezing and snowy day.

10, C

The key to the exercise is to spot the laptop in Picture C. ¥ in the first sentence of the

recording shows that a laptop should be included in the picture. So C is the correct answer.

5584 Part Two

11. v

—T-Z 4 is mentioned in the recording. Based on this figure, this statement can be confirmed
as true.

12. %

Special attention should be paid to the change of concepts when we do this exercise. In
the recording, it says that the book introduces 77 H so as to acquaint children with SC{t from
different countries. Despite that 75 5 is a part of 3{{k, this recording only touches upon 5 H 3L
k.. So this statement is false.

13. X

Generally speaking, if the statement contains the words expressing absolute senses like 4
/i, —3E, it is highly likely to be false. Based on the key points H C 240 Jp % and AfE 2
iESIA in the recording, it can be deduced that the statement and the recording are contrary in
meaning.

14. v/

Focus should be put on synonyms in this exercise. A1 /7 BSR4 44 in the statement
means the same as AR H Y25 4EH A 44 in the recording.



-

It is not difficult to find the correct answer. Although there are a lot of descriptions of
where 1 is standing, the focus remains on . fifR4FE4E in the latter part fits in with the
statement 1 K AR 442, so the statement is consistent with the recording.

16. X

Eggs, bread, milk and fruit juice are mentioned but apples are not, so the statement is false.

17. X

It is unlikely that i ] 1IE7E & HL%. Expressions like XA, RIRAFH L and T EHH
— 2% in the recording show that they are not watching a movie together now.

18. v/

There is a lot of information in the former part of the recording. However, you won’t
find the statement P 24T 5ER correct until you hear the final sentence {H il it {5 BRFT
(EEI 8IS

19. x

FEAILT is mentioned in the recording, and iX 1L fRME T in the latter part shows that
the speaker hasn’t found his watch. So the statement 4% 3|3 T is obviously false.

20. v

The key information often comes after the clause introduced by F& 1. %18} HEFHETE
is mentioned after the first clause, which shows that pencils afe needed when you take the exam.

So the statement % A Z 47 H2E fits in line with the recording.

=¥/ Part Three
21.A
The key to this exercise is to hear and recognize the word Hi#f. We can also find the answer
from a different approach. If the words #(% and 72 that are easily memorized and commonly

used are not mentioned in the recording, A will be the correct answer.

22.A

X AEFR K #[F) % in the recording shows that the person the woman is introducing is her

23.C
Synonyms are tested in the exercise again. In the recording, you will hear %& ¥t [ C. 1% &k

i, which has the same meaning as 5% 441 T in the statement. So C is the correct answer.




24.C

After hearing the recording, you will know the man is going to [F|431H, but he doesn’t know
how to get there. So C is the correct answer.

25. €

£ is mentioned in the recording. We can start by imagining the feeling of being tired, and
when being tired, a rest will be well-warranted. In the recording, though the man asks the woman
if she would like some water to drink, what the woman wants is K &.. So C is the correct answer.

26.B

The key word Pt in the recording shows that it has nothing to do with &, so C should be
ruled out first. If the woman ANf#7 1%, she won’t say the story is fR 45 & /&.. So B is the correct
answer because it shows that the female speaker thinks the story is good.

27.B

In the recording, the female speaker expresses her surprise and then asks the man why his
room is so clean. So it can be deduced that the cleanliness is unusual and is a bit surprising.
This statement has nothing to do with % J., so A should be ruled out first. And apparently, C
is incorrect, because the reason why the boy cleaned his dormitory is that his mother will visit
him. So B is the correct answer.

28.B

In the recording, % |- ¥4l I~ demonstrates that the speakers are waiting for their plane at
M. So B is the correct answer.

29.C

In the recording, the woman asks if she has gained weight. A man should never tell a lady
that she becomes fat because of common decency. Therefore, the man says %781k to the lady,
which sounds a polite response. So C is the correct answer.

30.B

Common sense won’t help you to find the answer to the exercise, so you should listen to
the recording carefully. Since 4f& appears twice in the recording while 535} and @54 are never

mentioned, B can be confirmed as the correct answer.

BI04 Part Four
31.B

The recording introduces the topic at the beginning. When asked what she thinks of the



trousers, the woman replies /45 . N4 should be the focus when you listen. This reply is sensible,
since no one is willing to buy something . In addition, comparisons between other trousers
are never made in the dialogue.

2.0

In the recording, the old 5-F is mentioned first, then the speakers suggest 5 FI# ¥ be
changed. Even if you don’t catch the word &, #F and H17% from the choices are never
mentioned in the recording, so these choices can be ruled out, and you can choose C.

3.

Two clues can help you get the correct answer of ) & BK. Among the choices, the other
two activities won’t be influenced if the weather changes, because these activities can be done
indoors. Meanwhile, the verb ) is mentioned twice, so C is the correct answer.

34.A

This exercise is not easy because & J is mentioned only once, and if we want to know if
the man will leave, we must figure out the implication of the key words % [f 2%, UL , HHL
22 ULH and ZFRATHRJLBCIL in the context. Listening again, you will find ELANAE PL7E 2 I
45T in the recording shows the answer.

35.A

The key to the exercise is to hear the first question ?THE and its answer J& clearly. /K&
in the third sentence can further confirm that the woman is tired. So A is the correct answer.

36.B

The recording focuses on the good relations between the man and Xiao Wang in the photo.
The first sentence iX 5K 88 F I ... shows B is the correct answer; as well, A and C are never
mentioned.

37.B

Several food names and the verbs 3Kk and % used for shopping appear in the recording.
In addition, the key information % A shows that the man will buy something to treat the
guest(s). So B is the correct answer which shows the man is going to do some shopping.

38.A

=2, EHERS, 1S and X in the dialogue between the man and the woman share links
with . So A is the correct answer.

39.B

It is easy to choose A because having something to eat seems to be discussed in the




recording. But upon listening further, you will find the reason why the woman doesn’t want to
eat has nothing to do with i T or not, but that she %4 %%, which is related to 4 %%.

40.A

The recording may flummox you because the two location words %< and P are often
related to #1[%]. In the recording, the sun is mentioned but the moon is not, so B can be ruled out
first. If you continue to listen, weather related words like T [j, B KX, B K are mentioned

further, so C #1.[%] can be ruled out as well.

. % Reading Section
%H—%R4>r  Part One

Keys to Questions41—45:B D C F A

Tips: While doing this type of matching exercise, the key is to find the appropriate words
or phrases through the similarities, relevance or connections. The exercises here are designed
based on starting from the easiest and moving to the hardest.

41.B

In the statement |~ % matches with Hi /i in choice B.

42.D

In the statement, the key words & A& , #ilH , A F LLFE are related to & and HL1 15 H. So
D is the correct answer.

43.C

4B determines that a time expression is needed to answer the question. Among the
choices, C B KX can be used to answer it.

44, F

This proverb is a little difficult, but {f and i£ show that this proverb is related to borrowing
things. The beginning parts of A and F seem to be feasible, but if we look at their latter parts, we
will find #] in choice A is irrelevant to &, and yet Ff in choice F is the inevitable result of fi,
because you will definitely use whatever you borrow.

45. A

Although we can choose answer A directly as it is the only option left, the choice can still

be tested by looking for related words. For example, 4244 is related to |, and & | #| is the



direct reason why the speaker won’t rest right away in spite of iR €.

Keys to Questions 46—50: E D C B A

46. E

DL E, 253 shows its reply should be relevant to a person, to which C and E are related. Choice
C shows a history lesson will be given, which has nothing to do with 223, so C should be ruled out
leaving E as the correct answer.

47.D

When it comes to changes in a city, urban elements such as streets and houses are often
touched upon. In choice D, the houses have been changed into high-rises, which is in line with
the changing urban features, so D is the correct answer.

48.C

&I is mentioned in the statement. 2%/ in choice C matches with the statement, so C is
the correct answer.

49. B

A Z 1t should be answered with miles or by the time length of your trip. In choice B, 40
£ 534} is mentioned. So B is the correct answer.

50. A

The statement mentions weather, which often connects with cold and warmth, or sunny and

rainy days. In choice A, a cold winter is mentioned; A is the correct answer.

5 _#04r  Part Two

Keys to Questions 51—55:B A C F D

Tips: To solve this kind of questions students can first use the process of elimination to rule
out unrelated choices and then analyze the rest.

51.B

The brackets are followed by ¥l JL in Mf JLA SZH4KAY, from which we can deduce that
the question is about asking for a location and the related vocabulary. Among the choices, [ffiT
fits in this context. B is the correct answer.

52.A

The brackets are followed by the character 5, from which we can deduce that a noun indicating

a certain scope is needed in this context. B is the only suitable choice that functions with the




statement fth L F7EfHIEHE £Z 5. So A is the correct answer.

53.C

[1]%% is easily collocated with [1]/#. Therefore, C is the correct answer.

54.F

The verb i and the adverb 4% which indicate frequency are the two options left for this
question. And from #7 following the brackets we can deduce that no more verbs are needed in
this context. So F 2% is the correct answer.

55.D

From the wishes BHAfdf, KK HR4R, and other ones like FT4FE MK and 4= H AR we
know that the verb # is needed in the context. So D is the correct answer.

Keys to Questions 56—60: B A F E C

Tips: What makes this part more difficult than the last five questions is that set phrases are
no longer enough to solve these problems, so students need to take into account the differences
regarding parts of speech.

56.B

The brackets are between ¥ and H %, from which we can deduce that a verb is needed to
link the subject ¥ and the object [ C\. Among the choices B and E are verbs, but E fi£r does
not fit in this context as it has little to do with expectations for the future. So B #{7 is the correct
answer.

57.A

From the flexible date 7 5 we can deduce that /~—4£, which indicates uncertainty, is needed at
the beginning of the sentence. Although we also have the collocation A&, it does not fit in this
context as the fixed date of return is already mentioned in the statement, which has little to do
with time span. So A is the correct answer.

58.F

The two words Z5££ and #L4 come to mind as we see 4= H. So F #L#J is the correct answer.

59. E

Common classroom expressions are tested in this question. After students finish their {E),
the teacher often asks them to £ £¥ it for possible mistakes. And then the teacher may i #r the

students’ 7E\l. again. Ko is easily collocated with #E\l. So E is the correct answer.



60. C

C /A is the last option for this question, which has the same meaning as 1R <} [H].

% —#K4r  Part Three

61.C

We can find that the first sentence ¥4 A LA is the key to the exercise, which is further
explained in the following part. The near synonyms i A] DA and A4 are also tested in this question,
thus we can see C corresponds with the first sentence. So A and B can be eliminated.

62.A

B can be eliminated first because based on our common knowledge, as very few characters
are contained in a Chinese name. Students maybe misled by C, but the number of characters in
¥ is not mentioned in the question. Instead, the statement is all about . So A is the correct
answer.

63.C

>k is not mentioned in the statement, so B can be eliminated. [fi appears once, but it is different
from [fii 5% JL. So C is the correct answer which is also the last option.

64.B

# K3 T appears at the end of the statement, so it can be easily deduced that BU{E f&F2.
So B is the correct answer. |

65.C

A can be eliminated first as %¢ is not mentioned. We can also eliminate B 21J&iR #!| because
we know of his devotion to his job. From the context we can deduce that he has begun to work. So
C is the correct answer.

66. A

T4 in the exercise will be enough to solve this question because students are always expecting
this phrase from their 2 Jifi.

61.C

Z:EEPE is mentioned at the end of the question, so B can be eliminated first. One may go to the
hospital when they catch a cold, but the person’s problem is a toothache instead of a headache. So
A is not the correct answer.

68. B

In the H9X ... {HJE structure, the clause led by {HJ2 is usually the key and should be closely




monitored. 23 i+ [B] 28 B & indicates that the person often exercises, and the latter part
only introduces the sports he is involved with.

69. A

We can deduce from the first sentence fli2k 5 Fl15H I A 4585 T that A is the correct answer.

70. A

We can deduce from the last sentence that the fish at this restaurant is very delicious. So
A is the correct answer. As for the other two choices, mutton is not mentioned, while dishes are

just described as not many but not whether the ingredients are fresh or not.

=. BHfE Writing Section
5—%&R4r  Part One

71 XFPEREKH T .

The HSK Level 1 vocabulary & and T can be used in the {4 + K + adj.+ I structure
which indicates a high degree. #f is the only adjective that fits in this context, and the word that
matches X is 25k ; hence the complete form, X~ + AL + K + & + T

72. IR T - 254

A€ and | appear together as a phrase in this context which reduces the difficulty of the question,
because otherwise students may come up with iX/> H fE— 7 ZHEL 1. Also, £& and Bt are
not divided which avoids the possibility of X1~ H #£ T #—J7 Z 3. In Chinese, | usually
follows the verb immediately to indicate something that has already occurred and 3§ cannot
be separated when following an amount of money.

73. H BB AR — 1 RAR SR .

ft 4 +3&— (4~ /1) + 414 is a commonly used structure; based on this, students may
come up with — PR AR A9 =7 2 5 B 31\ which is not correct. The reason is that there are a
lot of things that can make you feel happy, helping others is just one of them. If the subject and
predicate are interchanged, the sentence will become illogical. Moreover, the modifier —{f together
with what is modified cannot appear as the subject.

74, UL BAGRIE .

The usage of if: is tested in this question. When indicating a continuous action or state, if should

be immediately followed by words such as 7£ or {%. So & ¥ 45 W is the correct collocation,

- 10 -



